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1. A SOLID ICE OF 11 X 8 X2 INCHES IS MADE INTO ROD OF DIA 4 INCH. WHAT IS THE LENGE OF
ROD? ANS: 3.5 INCH

2. THERE WERE 750 PEOPLE WHEN THE FIRST SONG WAS SUNG. AFTER EACH SONG 50 PEOPLE
ARE LEAVING THE HALL. HOWMANY SONGS ARE SUNG TO MAKE THEM ZERO? ANS: 16

3. A PERSON IS CLIMBING OF 60 MTS. FOR EVERY MINUTE HE IS CLIMBING 6 MTS AND SLIPPING 4
MTS. AFTER HOWMANY MINUTES HE MAY REACH THE TOP? ANS: (60 − 6) /2 + 1: 28

4. HOWMANY ZEROS ARE THERE IN THE PRODUCT OF THE INTEGER FROM 1TO 100? ANS: 24 (NOT
GIVEN) 1 TO 10 − 2 ZEROS 21 TO 30 − 3 ZEROS: BECAUSE 25 = 5 ⚹ 5 22 ⚹ 5 24 ⚹ 5

5. A CAN DO WORK IN 2 HOURS B CAN DO A WORK IN 3 HOURS WHAT IS THE SHORTEST TIME
TYEY CAN FINISH THE WORK? ANS: 1HOUR 12 MIN.

6. SALARY IS INCREASED BY 1200, TAX IS DECREASED FROM 12% TO 10% BUT PAYING SAME
AMOUNT AS TAX. WHAT IS THE PREVISIOUS SALARY? ANS: 6000

7. THE LEAST NO. WHICH IS WHEN DEVIDED BY 4,6, 7 LEAVES A REMAINDER OF 2? ANS: 86

8. A MAN DRIVING THE CAR AT TWICE THE SPEED OF AUTO ONEDAY HE WAS DRIVEN CAR FOR 10
MIN. AND CAR IS FAILED. HE LEFT THE CAR AND TOOK AUTO TO GOTO THE OFFICE. HE SPENT
30 MIN. IN THE AUTO. WHAT WILL BE THE TIME TAKE BY CAR TO GO OFFICE? ANS: 25 MIN

9. A REPORT HS 20 WHEETS, EACH OF 55 LINES AND EACH SU; CH A LINE CONSISTS OF 65
CHARACTERS. IF THE REPORT HAS TO BE RETYPED WITH EACH SHEET HAVING 65 LINES AND
EACH LINE HAVE 75 CHARACTERS, THE PERCENTAGE OF REDUCTION OF NO OF SHEETS IS
CLOSEST IS TO? ANS: 25%

10. OUT OF 100 FAMILIES IN NEIGHBOUR HOOD, 55 OWN RADIO, 75 OWN T. V AND 25 OWN VCR.
ONLY 10 FAMILIES HAVE ALLOF THESE, AND EACH VCR OWNER HAS TV. IF 25 FAMILIES HAVE
THE RADIO ONLY, THE NO. OF FAMILIES HAVE ONLY TV ARE?

ANS: 30
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